ITI Welder 1st Year Module 6 GMAW techniques

(1). What is called the width of parent metal affected by thermal cycle? | Jparg

T2 d ¥ THIfAd Hd U1 &1 AISTs &I T Hed &2
(A) Crater | hex

(B) Under cut | 38X HhC

(C) Over lapping | 3NaR SftAT

(D) Heat affected zone | TTHI UHTfAd &=

Correct Answer : D

(2). Why the necessity of post heating of cast iron? | hT¥C 3R B UIRe gnéll
DI SaIHdT ) gieil 87

(A) Reduce crack develop | IR &1 fabT HH BT
(B) Develop under cut | 38 He f[apad B

(C) Develop porosity | g1 famRid &
(D) Develop spatters | e famfid &3

Correct Answer : A

(3). Why the regulator is condense and freeze in GMAW? | GMAW H Q?!@IE? Ca

HIY 3R Tl &l fpa SITar g2
(A) Dust | Y&

(B) Moisture | -THI

(C) Air leakage | ga1 RTm@

(D) Gas over flow | T 3flaR Tl



Correct Answer : B

(4). What is the name of the part marked ‘X’ shown in figure? | ICEE: EQIiQ Ma X
EESRINEIESIRIEES,

7

X

(A) Arcin roof | &d H T

(B) Long stick out | Tisl Bal §TgR QI
(C) Arc on side wall | 9138 AIdR TR 3T
(D) Correct arc length | T &I el AdTg

Correct Answer : A

(5). What is the part marked as ‘X’ in GMAW wire feed unit? | GMAW AR B8

gHe ¥ 'x & TUH RIfgd Um R g?

(A) Gear box | R gl



(B) Idler gear | 35S IR
(C) Wire feed roller | IR 1S e
(D) Input guide assembly | RTYC TS S el

Correct Answer : D

(6). What are the positions used in SAW? | SAW H b TSR &1 SuanRT foar
ST 82

(A) Flat | T
(B) Vertical | gcfopd
(C) Overhead | 3[R B8

(D) Flat and horizontal | Lfad Q_d 6Ti\QUI\IJ"CQ'I

Correct Answer : D

(7). What is the usual torch angle tilt on either side of vertical in GMAW? | GMAW

H aéfed & I SR AT <Id &1 H10T fhd-T 81T 87
(A) 10°-20°
(B) 20°-25°
(C) 25°-30°
(D) 30°-35°

Correct Answer : A

(8). What is the name of welding process if the arc produced by a consumable

metal electrode is protected by inert gas? | Wmﬁmmww%
3R U HgHEd YT 3aaeS gRI SdTed 3T B! FShy T4 gRT WRferd
fparSarg?




(A) MAG welding | MAG afcgT
(B) MIG welding | MIG AfcaT
(C) TIG welding | TIG AfeaTT

[ N

(D) Plasma welding | WIISH]I ISR

Correct Answer : B

(9). What is the name of the defect shown in figure? | ICEE:] EG|IE Wiﬁﬁrm
T T g?

(A) Spatter | Wex

(B) Porosity | IRYUT

(C) Distortion | fawgu

(D) Burn through | %@’RTGIFFIT

Correct Answer : D

(10). What type of rollers are used to Steel and Hard wires? | wd G?ITB'I_StaTCIﬁ
& fore frg IR & e T I o ST g2

(A) Vrollers | Vﬁ?‘lﬁ

(B) V knurled | Va~_:1('_‘\‘-;c
(C) Uknurled | U TS



(D) Ugrooved | U¥YdS

Correct Answer : A

(11). Which welding method starting of welding done by using steel wool or iron

Qa AN AN, 2 W e
powder? | ¥clel 4T T SR UT3 SY BT IUANT HIP Al Bl HI Il dfesT
faf &= gl 52

(A) SAW

(B) GTAW
(C) GMAW
(D) MMAW

Correct Answer : A

(12). Which one is checked by preheated temperature? | WW@W
S &1 ST g2

(A) Chalk piece | Dl Ph[ gh Sl
(B) Colour pencils | [ U
(C) Colour crayons | RUIEEDIC]
(D) Wax crayons | A7 B

Correct Answer : D

(13). What causes the possibility of distortion? | ﬁ?ﬁﬁﬂ“—mﬁmwg

gl 82

(A) Less welding | HH dfes T

(B) Apply pressure | G&Td dRIY

(C) Dirty welding wire | T af@T dr



(D) Excessive heat input | 3G d1a TYc

Correct Answer : D

(14). What is the use of back strips and bars while welding? | ST HRd IHY

9% e 3R IR BT UGN T 82

(A) To support the root pass | %€ U &1 THUH - & forg
(B) To strength the job | &I &I HSIgd B & foTg

(C) To minimise spatter | BIc ®H B & T

(D) To minimise the Distortion and Contraction | fa=gur 3k {-ignl"l Pl HH

B & forg

Correct Answer : A

(15). What should be the initial angle of two plates in a T joint if the final angle
between them is 90° after completion of welding? | a GVIQ'E H &l @icl &1 URMS
D101 T BT AT TfS AFET RIEIA & 18 I & 3ifdq HIvT 90 ° B2

(A) 93°

(B) 90°
(C) 85°
(D) 75°

Correct Answer : A

(16). What is the trouble shooting to wire wrapping on drive rolls of wire feeder in

GMAW? | GMAW T GRR BT & I13d e TR 1R U § 1 feaend gicft 82
(A) Adjust drive rolls pressure | ga™I SIEE! SSEAR

(B) Replace drive rolls and guides | SAEH@?T aﬁ“\“uss Pl ded



(C) Check drive rolls align properly | Sird SIEE! A Blh T TRad H
(D) Replace the drive motor | glgd Hiex 9ol

Correct Answer : C

(17). How many types of thermit welding? | yfife AfcET fosa U R ﬁ%ﬁ?ﬁ%’r‘
(A) 2
(B) 3
(C) 4
(D) 5

Correct Answer : A

(18). Which type of welds are often used to assist assembly or to maintain edge

alignment during welding? | a%"'[%aﬂ:f Tl Bl SEEGI B T fhIR
TR FTT TG P oY SRR o TR & deg o1 ST fohdll STl 82

(A) Root run weld | ¢ 31 deS
(B) Level weld | 9GS Tdd

(C) Tack weld | o des

(D) Stringer bevel | RETR dad

Correct Answer : C

(19). What is the main purpose of normalising? | WWWH@ 3%5221 [
g?

(A) To control hardness | mﬁﬁﬂ'aﬁm%m
(B) To prevent cracking | Wﬁﬁﬁ%m



(C) Welding operation easier | IS SHTIRH
(D) Grain of uniform structure | TH ITA] B1 ‘BIE:I

Correct Answer : D

(20). How many types of basic welding positions in GMA welding? | GMA GIRSHE:]

IRy AT ISR & b= UhR 62
(A) 2types
(B) 3types
(C) 4 types
(D) 5 types

Correct Answer : C

(21). What is the purpose of fitting clear glasses on either side of coloured glass in

a helmet? | 0THc H 19 WM & ST 3R TV I=HT T &1 R I 82
(A) Protect from rays | CRUIEEEIC

(B) Protect from heat | T ¥ Sa§Eg

(C) Protect from spatters | TWed s

(D) Protect from radiation | CIERUEEEIG

Correct Answer : C



(22). What is the name of the part ‘X’ in the GMAW principle of CO, welding? |

O, AT H amaw RIgid & URT 'x BT TH RIT 2?2

(A) Electrode wire | saqc:ls diaR
(B) Contact tip | Hicae feg

(C) Nozzle | fﬁw

(D) CO,gas | CO, T

Correct Answer : B

(23). Why the welder’s cloth should be free from oil, grease etc, while welding? |

AfeETT HId Y dee BT HUST dd, U 3M1ie I God I gIHT1 A5 T?
(A) To protect the job | SIid &I & & ferg

(B) To deflect the arc rays | 31T f0T Y f3&fd B3 & ferw

(C) To avoid catching fire | 3T UHS- I §- & falQ

(D) To safe guard your inner cloth | 30 3{TdR® HUS BT JR& o ferg

Correct Answer : C




(24). What is the name of the part marked ‘X’ shown in figure? | ICEE:] IEEIQ i
x' 3ifepd YT T A1 1 52

e

T

(A) Work piece | dTH Ph[ gh Sl
(B) Filler wire | flheeR AR
(C) Conduction | PSaRE

(D) Convection | HAaH

Correct Answer : B

(25). Which gas/mixture is likely to reduce the spatter loss in FCAW? | FCAW H

W & THIM DI HH B & o1U S I 71 / Feor o1 Gure g2
(A) Argon and CO, mixed | 3T 3R co, ff3d

(B) Argon and helium mixed | 3T 3R giferaw faf3d

(C) CO,and helium mixed | CO, 3R giferad fAfyd

(D) Only CO, gas | Had €O, T




Correct Answer : A

(26). Which gas is produced and highly toxic during GMAW? | GMAW & EERI'_'I

DI U T IO Bl & 3TN SATID STg<Iah slal 62
(A) Ozone | 3{ISTH

(B) Oxygen | 3fiaHToH

(C) Nitrogen | FITSgIoiA

(D) Hydrogen | BTESIoH

Correct Answer : A

(27). What is the name of part marked as ‘X" in the GMAW? | GMAW HX'dh =g
Y Rifga urT T T R R

]

(A) Electrode wire | saqc:ls diaR
(B) Contact tip | Hicae feg

(C) Nozzle | fﬁw

(D) CO, gas | CO, T

Correct Answer : C



(28). What is the purpose of preheat? | Eﬂ’sﬂfmﬁ 3%5221 W%?

(A) Reduce spatters | {-adﬁ HH B
(B) Reduce porosity | YA HH D

(C) Reduce crack | aXIR hH G

(D) Reduce shrinkage | %@5-1 HH B3

Correct Answer : D

(29). What protective equipment (PPE) is used to protect hand from burning
injury? | BTY I ST &1 i § 92+ o fold ford YR&MHD SUDHRU (PPE) BT
ST a1 ST 62

(A) Apron | WY
(B) Goggles | CANELS]
(C) Protective shield | JR&T hdd

(D) Leather gloves | JHS &b G

Correct Answer : D

(30). What is called, rapid cooling of a metal by immersing it in oil or water? |

fordt e 1 o a1 Ul H GEThR il ¥ $ST A ! R Hed 82
(A) Tempering | SHNA

(B) Quenching | ST

(C) Stress relieving | WH@[W

(D) Case hardening | g Elgﬁ‘l

Correct Answer : B



(31). What type of hand tool is used to open a gas cylinder in welding practice? |

T Ufdey & 19 Rl Wi & ot g YR & 81U SUHRUI BT ST
T STar g?

(A) X key | X bl

(B) Allen key | a0 !

(C) DE spanner | DE TR
(D) Spindle key | fEUSH Bt

Correct Answer : D

(32). What is the full form of FCAW? | FCAW &1 QUf %0 &1 87
(A) Flux Cored Arc Welding

(B) Fuel Cored Arc Welding

(C) Fluid Cored Arc Welding

(D) Flux Coal Arc Welding

Correct Answer : A

(33). Which roller is used to feed aluminium and soft wires? | Q?Iﬁﬂﬁﬂﬂ 3R
T ARI 1 R & forT fobg AeR 1 IuaT foban STt 82

(A) V-Rollers | V@ﬂﬁ

(B) U - Grooved | U7¥os
(C) V-Knurled | VdicS
(D) U -Knurled | U &S

Correct Answer : B



(34). What is the name of the defect shown in figure? | IEEE:] IEEIQ TI'Q@'ETW
IH 1|7

{ X 5

Y,
(A) Spatter | Wex
(B) Porosity | IRYUI

(C) Incomplete fusion | STYRT Wl
(D) Excessive penetration | frﬁé;m:r

Correct Answer : C

(35). What type of operation is generally used in GMAW? | GMAW T IR R

o TR & TR BT SUINT [T Sl 82
(A) Automatic | SficHICH

(B) Semi automatic | JHT 3flcHICH

(C) Fully automatic | el 3ficiAfed

(D) Manual method | Ag3@ fafdy

Correct Answer : B



(36). What is the name of the part marked as ‘X’ in the GMAW wire feed unit? |

GMAW dRR 1€ gfHe | 'x "o U § fafgd YT &1 71 a1 82

——————— —— T
le 1

(A) Gear box | TR Siag

(B) Centre guide | P& 7SS

(C) Idler gear | TSR IR

(D) Wire feed roller | AR B1S AR

Correct Answer : C

(37). Which gas has a higher thermal heat conductivity than argon? | M &t

J ¥ oy 719 & yviel ST aradhan 3T gl 87
(A) Oxygen | fTaIToIT

(B) Acetylene | TRIfed

(C) Helium | BiferaH

(D) Carbon di oxide | PTa SIZHFAZS

Correct Answer : D

(38). What is the groove angle for single 'V’ butt joint in GMAW? | GMAW A f&Ta

v g SIS & o @ P R 82



(A) 10°to 20°
(B) 25°to 30°
(C) 40°to 45°
(D) 50°to 55°

Correct Answer : C

(39). How many types of flux cored wires are used in FCAW? | FCAW H fooaq

UhR b U] HIRS dRI b1 STANT {1 ST 82

(A) 2types

(B) 3 types
(C) 4types
(D) 5 types

Correct Answer : A

(40). What are the gases mixed for shielding in FCAW? | FCAW H i %ﬁ«m

3 T P A1 B2

(A) Argonand O, | 3 3R 0,

(B) Argon and CO, | 3T 3R o,

(C) Helium and CO, | BIferaH 3R co,

(D) Argon and helium | 3T 3R giferad

Correct Answer : B

(41). Why the argon and CO, mixture is used in FCAW? | FCAW H 3 GﬁT CO,

o80T BT IUTT Y foar ST 82



(A) Smooth spray transfer, with minimum slag | W@"T%WU Fj}[@[
TR o folg

(B) Smooth globular transfer | ¥ TG ZRIHR & T
(C) Smooth pulsed transfer | ¥ Tiad TRAHR & T

(D) Smooth dip transfer | H—j\d%qgi{-lhhi

Correct Answer : A

(42). Which one of the device is used to control the speed of wire electrode in

GMAW? | GMAW H dRR Saiaee &1 TTfd &l FAbfAd w3 & o fob g feargq &1
IUANT fosaT ST 87

(A) Torch | e/

(B) Contact tip | TUb feu
(C) Steel liners | Td TG
(D) Wire feeder | aRIR 183

Correct Answer : D

(43). What type of safety equipment is worn while checking the welding joint of a
overhead crane frame? | 31\ION%S ab"l Dbl-l % afc\é‘l \ﬂT‘éd ﬁ\)ﬂd GI’JQ('\I HY m
THR & YR&T IUHRU Ug- STd &2

(A) Apron | T4

(B) Helmet | 8@HC

(C) Hand gloves | BTY & &M
(D) Hand screen | T4 &1 TpIH

Correct Answer : B



(44). Which gas is generated during GMAW on using CO; as shielding gas? |

GMAW & SR fobg T T TG fohaT SITdT 8 oid Co, 719 &1 URI&UT T &
U H IUINT fHar A1 g2

(A) Helium | giferad

(B) Carbon monoxide | ®Ta- HHIRIES
(C) Argon | 3

(D) Oxygen | 3ffeRiTs

Correct Answer : B

(45). What is the temperature produced by chemical reaction in thermit welding?

| yftfe afcg & Tmafe ufafar gy Ianfed arguH feram giar g2
(A) 5000°C
(B) 2760°C
(C) 4000°C
(D) 2000°C

Correct Answer : B

(46). Which defect is avoid to use run on and run off pieces? | X 34 GﬁTW

31 T el BT ITANT B I [ S J 1 I Ahell 62

(A) Crater | gl
(B) Under cut | 38X HhC

(C) Porosity | IRYUT
(D) Spatter | e

Correct Answer : A



(47). What is the distinct differences between GMAW and FCAW equipments? |

GMAW 3fR FCAW SUSRUI o o 3fcR &1 52

(A) Nozzle and torch | '_-hTrlFf 3R e

(B) Construction of torch and feed rollers | aﬁeﬁ?uﬁgﬂaﬁmﬁﬁm
(C) Machine and torch | AN 3R el

(D) Feed rolls and gas cylinders | His Ad G?Rﬁqm

Correct Answer : B

(48). How the repairs of cracks in cast iron component carried out? | hRC HUR

Ucdh H IR &1 FRAId H gldl 87

(A) By using clamps during welding process | i ufhar & EERI:I AT Bl
ST HRh

(B) Similar to arc welding mild steel plate | 3Teh AT '(';c'ab A @ie & I

(C) Local preheating, leftward welding technique flame heating each layer |

YT gl dueds afedT db-te TiH 83 AR &1 TH dHds

(D) Cracks repaired using appropriate electrode | SUYdd 5@10@5 BT SUART
PP IR D! U & Sl §

Correct Answer : C

(49). Which kind of metals can be welded in GMAW? | GMAW H b9 ypR ot

T3l 1 IS foraT o TahdT 82
(A) Only thin | Sad Tdall

(B) Only thick | Bad HIeT

(C) Only pipes | Hdd UTFY

(D) Thin and Thick | TdalT 3R HieT



Correct Answer : D

(50). What type of preheating is done only at the portions to be welded? | fg

TR b Wl ! dhael des fobT S ared I H foba oirell &2
(A) Full preheating | JUf HigifcT

(B) Local preheating | RITHIT Ugifc

(C) Direct preheating | el Wgife

(D) Indirect preheating | UG Wi

Correct Answer : B



